Name: Date:
PC Ms. Loughran
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1. Graph f(x)=x"—4x+7. Then find its: Fu\; (X‘ ) +3
(a) vertex (3’3)

b) axis of t = -
O i K2 ke (y=0) gk (1ek=)

(d) range [3 - [V * 2
(e) x—interceptsfo;%ox-\ﬂ\wf 0= ()( l) +3 3: (0"1) + 3

(f) y-intercept (()lq.) ,3_:_ (X"J); 3: 2
1-6 = X-2
N im«g\m«%
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Name: Date:
PC: Writing Equations for Transformed Graphs Ms. Loughran

For 1 — 10, a function f'is given, and the indicated transformations are applied to its graph
(in the given order). Write the equation for the final transformed graph.

—

. f(x)=x’; shift upward 3 units and shift 2 units to the right

y (k-3)" +3

. f(x)=x"; shift downwzird 1 unit and shift 4 units to the left
lA = (X + "{) - ]
ey Jx: shift 3 units to the left, reflect over the x-axis, and shift upward 1 unit

‘d: “Ixe3 4]

4. f(x)= |x|; shift to the right % and shift downward 2 units

- 1l -
N |X- 3| —A&
5. f(x)=x"; shift to the left 4 units, reflect over the x-axis and shift upward 10 units

_ Y
§ = - (xs) "+ 10
6. f(x)= Jx; reflected over the y-axis
- ~x
7. f(x)=x’; shift left 1 unit, reflected over the x-axis and shift upward 2 units

== (x41)"+ 2

8. f(x)=x% shiflaeft 3 units and shift upward 5 units

4= (x43)"+5

9. f(x)= \/;; shift 4 units to the right and shift downward 3 units

Y= I x-4 -3

10. f(x)= |x|; shift 1 unit to the left, reflected over the x-axis and shift upward 5 units

\j: —[x+1| +5
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Name: Date:

PC: Transformations of Parent Functions Review Ms. Loughran

For problem 1- 6, please give the name of the parent function and describe the transformation represented.

> ¢

1. g(x)=x?-6 Parent: )C

Transformations: 2 b

1

i 10

|

T

1T

2. f(x)= |x—l| Parent: -
]
Transformations: ‘ -
T
L
e
FH
M 1
3. h(x)= \/;+4 Parent:

Transformations:

4. g(x)=(x+1)*+3 Parent:

1

Transformations:

LT
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Write the equation for the following translationsof their particular parent graphs. You may use y= or function

notation (the f(x) type notation).

17. P {X\," x’—S’
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2. | ()= [_X*S)}

18.

rr

e

e

[~

-3

2

/ B
p T T T
1 2 3

ba

s

=)

-

21.

x

24,

Page |4

T T T T T T T T
1 2 3 . ) 1 7 B

VR 5 T e
(5) i
22.
2

T T T T L T T T
£ - -3 2 -1 2 3 4
25. ={xal -é

=3

-2

1

("‘l”')



= : Lk 441-1A8 - — *this isHe bty
- Homework-11-16- - wo:iwsﬁa{-kl

o) %__3 e -\x\!«B """(I);a,.. 42| =\
o _”*‘“"!‘(333__"; IR
e BRAINOD

() 2.0

iy X
PN

~_. (u\ u Xorlggad. '(/{*3 )___ %\ 5., T T
~-~——(—-S,LI ~7\('M ———— - ! -
g N ._,%;..(m) - TL} Dz R D).

B S M [N N & 27 S

,;_w;;3; B E————

R 6(_ ?(Sfﬂ IJW\—CML(E(W dnSNuls ?{&.a EFIRAY l\H[L oBf n',: Drdur on_ :




_ﬁnlfmwmm_w~w_m““£!ﬁl;flffw§[*ﬁm“ﬁf:ffff'

—_——— e e e e

2 ~ :*~<@3 «k_mmfxn%;:;ﬁ:hﬂm;-
—~— i-._.' ;b(-m ®) - { ] W | ‘ _j

SR A A 705 S ——

e e —— e e —

;f:ffff“(mm*"““f,1“'*"_*~“m3—?~ﬂ-~
- N ‘ ’5 )('_‘ S N S
b (— VA=l ’ _

RN RN SR NN YA EY ) U

R S s T s e o —‘—‘—~ I R A :o) a _\
BIRA "SR k(-2 2}

B T —




Ooptnuns gy vy

- hy= f(jiﬂ):_l __';__f__ﬁ_f QZ;__ _}/ (}Ei{ ) —’l-'____ A_

e

O Remal |

T

:--Nm L :__X__:Hﬂ +9G q+l0 -__~ V) \{,‘q ¢ q ~494 .‘ ;— —
—— Y= (7(4’ 3§1_3:L | ( \ % j_, ;(1)—.:) L‘_ C{D —————r—




6 2 A Y 4 J—,ggr-; RN
NS L SuErcl IR NG AR S
| Qr-glf':’) e '/‘H,'—ﬂ" k L | L




5) g=x] thﬁ j J
@) b) y=-x'-I D: (~o0,0)
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